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#define TURN_RIGHT 100
#define POW 75

void turn_right(int time){ &g }
void turn_left(int time){ AHB& }

© task line_trace()
{
© while(true){
@ if(Sensor(IN_2) > 40){

(5) turn_right(1);
}elseq
(6] turn_left(1);
¥

// [BERY B H5fE

s S N = El
ORy k% AR

SAYRL—2

// BEER

// FE[ElExR

P = b U0 i = B A s )
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iS5y A (p.83: parallel_task1.nxc)

parallel_taskl.nxc —




LJD?/F?Dﬁ?E

LEGO NXTTHRT

iS5y A (p.83: parallel_task1.nxc)

— fE parallel_taskl.nxc —

@ task collision_avoidance() // FEEY[O]E
{
@ whileCtrued{
()‘if(SensorUS(IN_4) < 25){
© turn_right(TURN_RIGHT);
ks

task main()

{
SetSensorLight(IN_2); /! ANR—F2%5A4 FEVHITRE
SetSensorlLowspeed(IN_4); /! ANR— b 4 = BEREHIERE
Precedes(line_trace, collision_avoidance); // Mi%l|32 X2 DiCE)

7
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FHDEAN (NXCHA)

E—F—hEHRAINTWVWEHESH 2R
— Acquire(mutex)
. E—IIMFRHEI N TWARWRREICRZETHED

TE—YDERE. B
— Release(mutex)
- BE—Y ZHEK

mutex moveMutex;

Acquire(moveMutex);
OnFwd(OUT_AC, 75);
Wa1t(1000);

Release(moveMutex);
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AT RAD (p.87: parallel_task2.nxc)

#define TURN9Q 100

O mutex moveMutex;

void turn_right(int time){ HHEg } // flelEs
void turn_left(int time){ HBH&} // [olEr

task line_trace() /) oAV NL—X

{
while(true){

@ if(Sensor(IN_2) > 40){
© Acquire(moveMutex);
(5) turn_right(@);

(6 Release(moveMutex);

}else{
Acquire(moveMutex);
turn_left(0);

Release(moveMutex);
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AT RAD (p.87: parallel_task2.nxc)

task colision_avoidance() // BEEYE)E
{
while(true){
@ if(SensorUSCIN_4) < 25){
Acquire(moveMutex);
® turn_right(TURN9Q);

Release(moveMutex);

task main()
{
SetSensorLight(IN_2);
SetSensorLowspeed(IN_4);
Precedes(line_trace, collision_avoidance); // MBI 3Z X7 DECE




